11.7) Partial fractions



Worked example Your turn

Find: Find:
x+5 p x—5 q
x—Dx+2) x+Dx—2)
+ 1)?
In (x ) + c
X — 2




Worked example Your turn

Find: Find:
3x + 15 — 4x?2 8x%2—19x + 1
j dx f dx
(2x + 1) (x — 2)2 (2x + 1) (x — 2)2

1
In|(2x + 1)(x — 2)3| +XT2+ C




Worked example Your turn

Evaluate: Evaluate:
2 8x2+4+34x+20 2 4 — 2x

o (2x + 1) (x + 1)(x + 3) o 2x+ D(x + D(x +3)

125
In| —
(=)




Worked example Your turn
Find: Find:
f * d - d
x%—4 x fxz -1 x
x—1
In ‘ ‘ +c

x+1



Worked example Your turn

Find: Find:
x> x>
jx —1 dx fx +1 dx

1
Exz—x+ln|x+1|+c




Worked example

Your turn

Find:

Find:

=T
x—lx

x+Inlx—1|+c

x—1
f dx
X

x — In|x| + ¢



Worked example Your turn

Find: Find:
ij —2 p fx3 + 2 J
x—1 X x+1 x
1 1

§x3—5ﬁ+ﬂﬂ%Mx+1L+c




Worked example Your turn
Find: Find:
4x% — 2x — 18 9x?% — 3x + 2
j miog f oxz_g @
1 3x — 2
x+§ln Gx 1 2)? +cC




